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Equilíbrio Iônico e o caráter ácido-base 



𝐻+

𝑂𝐻−

𝐻+

𝑂𝐻−



𝐻+

𝑂𝐻− 10−1 10−14

𝑝𝐻 = − log 𝐻+

𝑝𝑂𝐻 = − log[𝑂𝐻−]

𝐻+ 𝑂𝐻−



Ex.: 
[𝐻+] = 1. 10−5 𝑚𝑜𝑙/𝐿

𝑝𝐻 = − log[𝐻+] 

𝑝𝐻 = − log 10−5

𝑝𝐻 = − −5 log 10

 𝑝𝐻 = 5               1

[𝐻+] =  10−5 𝑚𝑜𝑙/𝐿

         𝑝𝐻 = 5        ∴  

𝑝𝐻 + 𝑝𝑂𝐻 = 14
𝑝𝑂𝐻 = 14 − 5

𝑝𝑂𝐻 = 9

𝐻+ = 1 ∙  10−𝑥

 [𝑂𝐻−] = 1. 10−13 𝑚𝑜𝑙/𝐿

𝑝𝑂𝐻 = − log[𝑂𝐻−] 

𝑝𝑂𝐻 = − log 10−13

𝑝𝑂𝐻 = − −13 log 10

 𝑝𝑂𝐻 = 13                1

[𝑂𝐻−] =  10−13 𝑚𝑜𝑙/𝐿

         𝑝𝑂𝐻 = 13                               
                    

𝑝𝐻 + 𝑝𝑂𝐻 = 14
𝑝𝑂𝐻 = 14 − 13

𝑝𝑂𝐻 = 1 ∴  

𝑂𝐻− = 1 ∙  10−𝑦



Ex.: 
[𝐻+] = 5. 10−4 𝑚𝑜𝑙/𝐿

𝑝𝐻 = − log[𝐻+] 

𝑝𝐻 = − (log 5. 10−5)

𝑝𝐻 = − (log 5 + log 10−4)

 𝑝𝐻 = − 0,7 − 4  

     𝑝𝐻 = 3,3  ∴   

𝑝𝐻 + 𝑝𝑂𝐻 = 14
𝑝𝑂𝐻 = 14 − 3,3

𝑝𝑂𝐻 = 10,7

 [𝑂𝐻−] = 0,00002 𝑚𝑜𝑙/𝐿

      [𝑂𝐻−] = 2 . 10−5𝑚𝑜𝑙/𝐿

𝑝𝑂𝐻 = − log[𝑂𝐻−] 

𝑝𝑂𝐻 = − (log 2 . 10−5)

𝑝𝑂𝐻 = −(log 2 + log 10−5)

 𝑝𝑂𝐻 = −(0,30 − 5)

     𝑝𝑂𝐻 = 4,7

[𝐻3𝑃𝑂4] = 3. 10−3 𝑚𝑜𝑙/𝐿
𝐻3𝑃𝑂4        →      3𝐻+     +       𝑃𝑂4

  3−

3 ∙ 10−3𝑚𝑜𝑙/𝐿           3 ∙ 3 ∙ 10−3𝑚𝑜𝑙/𝐿    3 ∙ 10−3𝑚𝑜𝑙/𝐿

     [𝐻+] = 9 ∙ 10−3𝑚𝑜𝑙/𝐿

𝑝𝐻 = − log[𝐻+] 

𝑝𝐻 = − (log 32. 10−3)

𝑝𝐻 = − (2 ∙ log 3 + log 10−3)

 𝑝𝐻 = − 2 ∙ 0,47 − 3  

     𝑝𝐻 = 2,06  ∴   

𝑝𝐻 + 𝑝𝑂𝐻 = 14
𝑝𝑂𝐻 = 14 − 2,06

𝑝𝑂𝐻 = 11,94

𝑝𝐻 + 𝑝𝑂𝐻 = 14
𝑝𝐻 = 14 − 4,7

𝑝𝐻 = 9,3 ∴    



𝑎𝑥 = 𝑁 ⇔ 𝑙𝑜𝑔𝑎𝑁 = 𝑥 ≠

≠

o

𝑙𝑜𝑔𝑎 𝑀 ∙ 𝑁 =  𝑙𝑜𝑔𝑎𝑀 +  𝑙𝑜𝑔𝑎𝑁
o

𝑙𝑜𝑔𝑎
𝑀

𝑁
=  𝑙𝑜𝑔𝑎𝑀 −  𝑙𝑜𝑔𝑎𝑁

o

𝑙𝑜𝑔𝑎𝑀𝑛 = 𝑛 ∙  𝑙𝑜𝑔𝑎𝑀





𝐻+

𝑂𝐻−

𝐻𝐼𝑛𝑑(𝑔) + 𝐻2𝑂(𝑙) ⇌ 𝐻3𝑂  (𝑎𝑞)
+ +  𝐼𝑛𝑑   (𝑎𝑞)

−




